
Which region would likely have the greatest amount of biodiversity? A.
a grassland region with one ecosystem, which supports very large
populations of a few different species
B.
a coastal region with three ecosystems, each of which supports many
different species
C.
a cave region with one ecosystem, which supports small populations of
many different species
D.
a mountainous region with two ecosystems, each of which supports a few
different species
Answer:

The correct answer would be B.  a coastal region with three ecosystems, each of which supports many different species

Biodiversity refers to the sum up of all the variety or type of species of living organisms inhabiting a particular area.

It includes all living organisms whether plant, animal, insect, or bacteria.

The more the variety of living organisms present in an area the more would be its biodiversity.



Similarly, the coastal region has three types ecosystem each of which supports different types of species.

Thus, this region would have the most variety of organisms.

Hence, it would have maximum biodiversity as compared to the other regions.

I believe b, but I could be wrong, so get another opinion!
This table shows information from a survey about the type of coffee people prefer and whether they like it hot or cold.
A population of lizards decreases exponentially at a rate of 12.5% per year. What is the equivalent monthly rate to the nearest hundredth of a percent? a. 0.20%
b. 1.04%
c. 1.11%
d. 1.23%
Economist A believes that the economy is self-regulating. Economy B believes that wages and prices and inflexible downward. economist C believes that the
AS curve is vertical. economist d believes crowding out is complete. which economist is more likely to advocate for expansionary?
Does antibiotics help kill the common cold??
Describe how the theme in the “man who was almost a man” interact and build on each other.
Points!! Get Your Points!!! Dirk can clean a playground in 5 hours. Geralyn can clean a playground in only 4 hours.

Which of the following can be used to determine the amount of time it would take for Dirk and Geralyn to clean a playground together?
A.) (1/5) + (1/x) = (1/4)
B.) (1/x) + (1/4) = (1/5)
C.) (1/5) + (1/4) = (1/x)
D.) (1/4) + (1/5) = (x/9)
Jeremy has 4 1/2cup of ice tea what's to divide ice tea into 3/4 cup servings youth model to find the number of servings he can make
(5x3)+(nx4)=5(3+4) is what
PLEASE HELP!!! One of the similarities between Yeat's two poems, "The Second Coming" & "An Irish Airman Forsees His Death" is

A. both follow a simple rhyme scheme

B. addresses the single fate of one man.

C. compels the reader to reassess the world the live in
Assume that at the end of the next year, Company A will pay a $2.00 dividend per share, an increase from the current dividend of $1.50 per share. After that, the
dividend is expected to increase at a constant rate of 5%. If an investor requires a 12% return on the stock, what is the value of the stock?



A train averages a speed of 90 miles per hour across the plains and 37.5 miles per hour through the mountains. if a trip of 300 miles took 3 hours and 48
minutes, how much of it was through the mountains?
How are the muslim and chinese calendar different
PLEASE HELP!! FIRST CORRECT ANSWER GETS BRAINLIEST!!!! Decide which problem is illustrated by the following sentence:

It was voted that all members would pay a small increase in dues.

A.
Improper use of voice
B.
Wordiness
C.
Unclear meaning
Which phrase below best demonstrates parallel structure in the following sentence? Turning off the lights, blowing out the candles, and _____ are important
steps for home safety.

A. unplug electrical devices
B. clean out lint trap
C. covering electrical outlets
The slope of the line below is -3 land the y-intercept is 2. What is the slope intercept equation for the line?
Why did the Anti-Federalists urge for the adding of a Bill of Rights to the United States Constitution? there was already an obligation to do so, but the
Federalists were disregarding it

there was an example set for doing so in Great Britain's Constitution

they thought the government needed rules from possible rebellions

they thought the people's liberties needed protection from the government; increase individual rights
How many roots does y = x
- 4x2 + 3x have?
Which of the following statements best describes the African slave trade? Select the best answer from the choices provided.
A.
It inspired many European countries to start colonizing lands and growing cash crops.



B.
It arose as part of a complex system of trading between three continents.
C.
It did not become a major force in the global economy until the 1800s.
D.
It already existed completely independent of any European governments.
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